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This booklet consists of 85 Multiple choice questions. Each gquestion
has 4 (four) alternatives (A), (B), (C), and (D). In any case only one
alternative will be the cormrect answer. Choose the right alternative
and darken the appropriate circle in the answer sheet in front of the
related question.
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For each correct answer One mark will be given and for each
incorrect answer 0.25 mark will be deducted.
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Use Black/Blue ball point Pen to darken the circle..Answer once
Yarkened is not allowed to be erased or altered. Against any question
if more than one circle is darkened, machine will allot zero mark for
that question.
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In OMR answer sheet candidate must fill up all required information
and for this candidate must darken the appropriate circle. The OMR
Answer sheet will not be evaluated if the candidate fails to fill up the
required circles correctly as per the given directions.
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Read the instructions printed on Answer sheet carefully before filling
the information on the answer Sheet. Do not fold answer sheet in any
case.
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Before beginning to answer the questions please make sure that all
entries on OMR answer-sheet and Test Question booklet have been
duly completed.

Candidate should not leave the examination hall/room without
handing over his Answer sheet to the invigilator and without
signing on the attendance sheet. Failing in doing so, will
amount to disqualification.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete.
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Note : In case of discrepancy in Hindi language, English version will be treated as final
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




Directions: Choose the most appropriate option.
Directions : In the following questions, a part of the
sentence is printed in bold. Below are given
alternatives to the bold part at (A), (B) and (C) which
may improve the sentence. Choose the correct
alternative. In case no improvement is needed, your
answer is (D).

1. Sordid and sensational books tend to vitiate the
public taste.

(A) divide
(C) distort

(B) distract
(D) No improvement

2. By studying AIDS has engaged many researchers

in the last decade.
(A) Important study
(C) The study of

(B) Now that the study
(D) No improvement

3 His Master’s thesis was highly estimatedgnd is
now being prepared for publication.

(A) was highly discussed
(B) was highly commended
(C) is highly appraised

(D) No improvement

Directions: Questions are based on passage below.
Harold a professional man who had worked in an office
for many years had a fearful dream. In it, he found
himself in a land where small slug-like animals with
slimy tentacles lived on people's bodies. The people
tolerated the loathsome creatures because after many
ywars they grew into elephants which then became the
nation's system of transport, carrying everyone
wherever he wanted to go. Harold suddenly realised
that he himself was covered with these things, and he
woke up screaming. In a vivid sequence of pictures this
dream dramatised for Harold what he had never been
able to put in to words; he saw himself as letting
society feed on his body in his early years so that it
would carry him when he retired. He later threw off the
"security bug" and took up freelance work.

4. In his dream Harold found the loathsome
creatures

(A) inhis village

(C) in adifferent land
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(B) in his own house
(D) in his office

5. Which one of the following phrases best helps to
bring out the precise meaning of 'loathsome
creatures'?

(A) Security bug and slimy tentacles

(B) Fearful dream and slug-like animals
(C) Slimy tentacles and slug-like animals
(D) slug-like animals and security bug

6. The statement that 'he later threw off the security
bug' means that

(A) Harold succeeded in overcoming the need for
security

(B) Harold stopped giving much importance to
dreams

(C) Harold started tolerating social victimisation
(D) Harold killed all the bugs troubled him

7. Harold's dream was fearful because

(A) it brought him face to face with reality
(B) it was full of vivid pictures of snakes
(C) he saw huge elephant in it

(D) in it he saw slimy creatures feeding on people's
bodies

8. "Whatever Dev uttered was without thyme or
reason’ means ......

(A) Dev could not recite any poem or speech

(B) Dev said something which has no meaning, it
was totally baseless

(C) Dev was talking something which was beyond
our experience

m Dev spoke flatly without any emotion or reason

Directiciiz: Thoose the most appropriate option.
9. A 'slip of the tongue' means something said
(A) wrongly by choice

(B) unintentionally

(C) without giving proper thought

(D) to hurt another person

10. Please identify the synonym of the word:

CORPULENT
(A) Lean (B) Gaunt
(C) Emaciated (D) Obese
AO



11. TG A6 ECHS b Ay e R 1282 7 4
fos. A /9 9 @ T T B © T SHD! A A B

(A) 4 1/39ffE A9l ga
(B) 9 2/33ffd A uld g

(C) 9% ufa f&. A vfy ger
(D) 8 ufa f&. A v wer

A man walks at 5 kmph for 6hr and at 4km/h for
12hr. His average speed is
(A) 4 1/3km/h

(B) 9% km/h

(B) 9 2/3 km/h
(D) 8 km/h

12. <1Vl B TR P U 7:8 81 A qH 4 S H
440 f5. A Forl 8 O UB XA B WA 2

(A) 474 ¥fa fb. A 9fa e

(B) 57.19 7 f&. 4. gfr g1

(C) 4813 ¥ f&. A i gar

(D) 96.25 ¥fd f&. # yfy ger

The ratio between the speeds of two trains is 7: 8.
If the second train runs 440 kms in 4 hours, then
the speed of the first train is:
(A) 47.4 km/hr
(C) 48.13 km/hr

(B) 57.19 km/hr
(D) 96.25 km/hr

13, M 4 oy TE e H o o o Fwa gy 8 faAl A
@2/ TR WA B WA B b e #

9 H¢ Pl @va QU 6 foAl A fbe oy T & S
forg S fu o =fey ?

(A) 189 (B) 198

(C) 102 (D) 142

If 34 men completed 2/5th of a work in 8 days
working 9 hours a day. How many more man
should be engaged to finish the rest of the work in
6 days working 9 hours a day?

(A) 189 (B) 198
(C) 102 (D)142
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14, SEIR U S Th B ox A 8 6 & GHY STl
2 PR G o) T8 B TR A 10 B HT WG ATl o
7 iR & @ to arr o) 38 ol Wad WY W e W
foa T1g m ?
(A) 40/0 fed
() 75 fea

(B) 40/7 A
(D) 85 fea1

Worker A takes 8 hours to do a job. Worker B
takes 10 hours to do the same job. How long it
take both A & B, working together but
independently, to do the same job?

(A) 40/9 days (B) 40/7 days
(C) 7.5days (D) 8.5days

15. fbde & Yo # THIW 10 3l & T ¥ 3ol 32
o | AW 40 NRT H 282 T BT AW [ A B g

I B &R foa g9 ARy ?
(A) 6.25 (B) 6.5
(C) 6.75 (D) 7

In the first 10 overs of a cricket game, the run rate
was only 3.2. What should be the run rate in the
remaining 40 overs to reach the target of 282
runs?

(A) 6.25
(C) 6.75

(B) 6.5
D)7

16. TS IHMGR & fahl MR 5 #18 TP 6435 B, 6927
T. , 6855 B, 7230 ©. 3N 6562 ©. B | BS AE H I@! A
foraen g9 TfRT f 98 6500 %, @ v el ax W@ ?

(A) ©.4991 (B) ®. 5991
(C) %.6001 (D) %. 6991

A grocer has a sale of Rs. 6435, Rs. 6927, Rs.
6855, Rs. 7230 and Rs. 6562 for 5 consecutive
months. How much sale must he have in the sixth
month so that he gets an average sale of Rs.
65007

(A) Rs. 4991 (B) Rs. 5991
(C) Rs. 6001 (D) Rs. 6991
AO



Tefefan a1c § @ @ 9 9 o Hiew ofR ufd T # wigge o
ARG ade) § ST AT § | 9 T AAAT BN AR 9 WAl & TR
3|

Y
21W " :
18 =1
bout 18 pd
Price in 2
Rupees d '
G -——é—
3 W

U7773000 2001 2002 2003 2004 2005 2006 X

~—~t— = Plywood —— = Saw Timber —a— = Lop

17. 3T W BF O 9K (o o 3 § o o aifdmaw e afg

Z9Ifam &7
A) TR ddSl

B) @Ege
C) =

D) &7 ¥ @i Tl

18. df & wf = dier o # fiwan gRem ghe e 8
(A) 6 (B) 12

(C) 18 (D )20

19. frw a9 ¥ 31 IURT G [ To7 AR AW G 4 TG

(A) 2000 (B) 2002
(C) 2003 (D) 2006
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(C) Log

In the following chart, the price of logs is shown in
per cubic metre and that of Plywood and Saw
Timber in per tones. Study the chart and answer
the following questions.

Y

R S

18 -
(] /
Pricoln |

6 g |

g g
3
02000 2001 2002 2003 2004 2008 2006 X

—e— = Plywood —e— = Saw Timber —ar— = Log

17. Which product shows the maximum
percentage increase in price over the period?
(A) Saw timber (B) Plywood

(D) None of the above

18. What is the maximum percentage increase in
price per cubic metre of log ?

(A)6 (B) 12

(C) 18 (D) 20

19. In which year the prices of two
preducts increased and that of the thitd

increased ?
(A) 2000 (B) 2002
(C) 2003 (D) 2006
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GEE 10 991 § 1020 I T [F A & 0 W o Radi X @
e f6Y Y | §W geR W Sl FEER B X

60, 62, 65, 64, 63, 61, 66, 65, 70, 68,

63, 62, 64, 69, 65, 64, 66, 67, 66, 64

20. X 7 e, W A0 9 oy # W H 10 Afwa AR 8, 78 87
(A) 69
(B) 68
(C)67
(D) 66

21. X @1 4, S A9 ) Sy # w9g ¥ 90 yfee R B @ 98
?

(A) 63

(B) 62

(C)61

(D) 60

22 X &1 0, W A9 1 Sfdy ¥ W W 50 e st B & a8
&

(A) 66

(B) 65

(C)64

(D) 63
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Measurements of some variable X were made at
an interval of 1 minute from 10 A.M. to 10:20 A.M.
The data, thus, obtained is as follows : X :
60, 62, 65, 64, 63, 61, 66, 65, 70, 68,
63, 62, 64, 69, 65, 64, 66, 67, 66, 64

20. The value of X, which is exceeded 10% of the
time in the duration of measurement, is

(A) 69 (B) 68

(C) 67 (D) 66

21. The value of X, which is exceeded 90% of the
time in the duration of measurement, is

(A) 63 (B) 62

(C) 61 (D) 60

22. The value of X, which is exceeded 50% of the
time in the duration of measurement, is

(A) 66 (B) 65

(C) 64 (D) 63
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39 TiferdT ¥ 2006 W 2010 B AW P R @ BR TR F FAG D
7] (&l 3R Teriel) & Seured Sy MY | e @ W qde
T W AR g Yl D 9 3|

af 2006 2007 2008 2009 2010
d@ 6000 9000 13000 11000 8000
TdEl 7000 9400 9000 10000 12000

23 &8 T 7 gelggie 71 1 Ho I A 2017
(A) 2006
(B) 2007
(C) 2008
(D) 2010

24. 2006 ¥ 2008 B 419 Vol AR Al & SR B A D A @
I B

(A) 3000

(B) 2867

(C) 3015

(D) ¥ ¥ 3% T

25, q¥ 2010 % Teiiel & ScIed @ ol § i) Bl Seured e ay
T g3 27
(A) 2007
(B) 2006
(C) 2009
(D) 2008

26. T 2008 37 2010 ¥ TAAS & TR FT AT AU 27
(A)4:3
(B)3:4
(C)1:3
(D)2:3

27. Y 2006 3R 2007 % &l T SARA F T AU 27
(A)6:7
(B)7:6
(€)2:3
(D)3:2
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The following table presents the production of
electronic items (TVs and LCDs) in a factory
during the period from 2006 to 2010. Study the
table carefully and answer the following questions.

2006 2007 2008 2009 2010
13000 11000 8000
10000 12000

Year
TV 6000 9000
LCDs 7000 9400 9000

23. In which year, the total production of
electronic items was maximum?

(A) 2006 (B) 2007

(C) 2008 (D) 2010

24. What is the difference between averages of
production of LCDs and TVs from 2006 to 20087?
(A) 3000 (B) 2867

(C) 3015 (D) None of above

25. What is the year in which production of TVs is
half the production of LCDs in the year 2010?

(A) 2007 (B) 2006

(C) 2009 (D) 2008

26. What is the ratio of production of LCDs in the

years 2008 and 20107?
(A)4:3 (B)3:4
(C)1:3 (D)2:3

27. What is the ratio of production of TVs in the

years 2006 and 20077
(A)6:7 (B)7:6
(C)2:3 (D)3:2

AO



The total CO, emissions from various sectors are
5 mmt. In the Pie Chart given below, the
percentage contribution to CO, emissions from
indicated.

sectors is

various

Domestig
sector

Commercid

J )
[ransport deatar

sector

28. What is the absolute CO, emission from
domestic sector?

(A) 1.85 mmt (B) 2.5 mmt
(C) 2.75 mmt (D) 0.75 mmt
29. What is the absolute CO,emission for

combined thermal power and transport sectors?

(A) 3.25 mmt (B) 2.5 mmt
(C) 2.8 mmt (D) 4.2 mmt
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it &5 W B FRY SRYiTEES Ioae 5 IR B A Ry T
T o % R &E A eer Soioe # U 4FRH §9 SR
e T &

Thermal
power
sector

Domestic
sector

Commercial

Transport Secior

sector

28, We] 87 A WA DSRIITES Iewe foar 87
(A) 1.85 wgdh

(B) 2.5 T

(C) 2.75 ot

(D) 0.75 v

20, Wya o g IR wRaew a3 faU T GRS SR
fomer 27

(A) 3.25 wTwd

(B) 2.5 g

(C) 2.8 wgd

(D) 4.2 v

AO



The total electricity generation in a country is 97
GW. The contribution of various energy sources is
indicated in percentage terms in the Pie Chart

given below ;
Nuclear power
WI nd & Solar energy
Fossil :
fuels
Hydro power

30. What is the contribution of wind and solar

power in absolute terms in the electricity

generation?
(A)6.79 GW (B)9.4 GW
(C)19.7GW (D) 29.1 GW

31. What is the contribution of renewable energy
sources in absolute terms in the electricity
generation ?

(A)09.1 GW (B) 26.19 GW
(C)67.9GW (D) 97 GW
8|Page
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o ¥ g fwrel Swre o7 Fimic @) Ry Ty o W # wfoww
fafer Sut Wi @1 AN T T R |

Nuclear power
Wind & Solar energy

Fossil
fuels

Hydro power

30, T e § ova W uee iR WR fgm @ fea e @7
(A) 6.79 frmife
(B) 9.4 +frmife

(C) 19.7 it
(D) 29.1 e

31, fagm Soea % wu wed § adievia Sat wel & fen dies
&

(A) 09.1 +frmre

(B) 26.19 e

(C) 67.9 mafe

(D) 97 e

AO



32 HGEX W F3 T A AfFT
91 Xl &

A) @ dr g B) #Hexa®

C) gug D) v§ 'H U 8§

provides power to the
computer peripherals.
A) CPU B) Mother board
C) USB D) SMPS

33 Tafad Tae &1 el Wdifhd F A &
fo forg efféare @l &1 3dler gidr §7?

A) Ctri+D B) Ctrl+U

C) Ctrl+Shift+U D) Ctr+Shift+D
In which shortcut key is used to double
underline the selected text?

A) Ctri+D B) Ctri+U
C) Ctrl+Shift+U D) Ctr+Shift+D

34. UE qEY N AG G al HS T JT AT
IRET H oA & fAT, TR A THY

A) CTRL il &l gale T U5l &

B) SHIFT ot &t el TG I5cll §

C) ALT ol I garaT I@AT 95T &

D) CTRL + SHIFT i &I Z&rehy I@e1
qsel &

To select several cells or ranges that are
not touching each other, you would
while selecting.

A) hold down the CTRL key
B) hold down the SHIFT key
C) hold down the ALT key
D) hold down CTRL + SHIFT
9|Page
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35

A)
B)
C)
D)

@7 3% ¢ SuARear
AT FEUA & T T Rarg e e
o, e 3R FTget @ o3 @
Aead H I 3YCTSY FIAT.
Reaasiradr (Tremssifaed)

AT Hegstae (Rar e
HEY[Ea

Sife

Aim of is to make all
programs, data and peripherals
available to anyone on the network
irrespective of the physical location of
the resources and the users

Reliability
Resource sharing
Computing
Printing

U TASS gUsaae & AHfdhan dear
0T T Tehd! &

IR B) ¥

@t D) aRE

The maximim number of handouts that a
slide contain are '

four B) Six

Nine D) Twelve

AO



37. U% OR #Hifed 3 AR 3 98 & 750 ¥, 8 %. 3R
850 ©. il oft. B EX A Ugiel Wil | I} 98 IS a9
4000 %. Td FNAT & T I i e} Ughdl UR o
3l far @d fosar ?
(A) ¥.7.98

(C) %.9.50

(B) ®. 6
(D) ®. 9.5

A car owner buys petrol at Rs.7.50, Rs. 8 and Rs.
8.50 per litre for three successive years. What
approximately is the average cost per litre of
petrol if he spends Rs. 4000 each year?

(A) Rs.7.98 (B) Rs. 6
(C) Rs.9.50 (D) Rs. 9.5
. ) (0.96) - (0.1)°
38T o (0.96) + 0.096 + (0.1)?
(A) 0.86 (B) 0.95
(C) 097 (D) 1.06
(0.96)? - (0.1)*
The value of > 2
(0.96)% + 0.096 + (0.1)
(A) 0.86 (B) 0.95
(C) 097 (D) 1.06

30. afvafa (11.98 X 11.98 + 11.98 X X + 0.02
X 0.02) T & 39O UK 8 ) quf o &l |

(A) 2.02 (B) 0.17

(C) 0.04 (D) 1.4

The expression (11.98 X11.98 + 11.98 X x + 0.02
x 0.02) will be a perfect square for x equal

to:
(A) 2.02 (B) 0.17
(C) 0.04 (D) 1.4

40. 0.04 X 0,0162 3D TR &
(A) 2.02 (B) 0.17
(C) 0.04 (D) 1.4

0.04 x 0.0162 is equal to:
(A) 6.48x10° (B) 6.48 x 10™
(C) 6.48x10° (D) 6.48 x 107
10|Page
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41,

(A)
(B)
©
D)
42,

(A)
©)

43.

(A)
(B)

©
D)

44.

(A)
(B)
©
D)

45.

(A)
©)

The person is called an Adolescent as per
Factory Act, 1948, if his age is

16 years

14 to 18 years
15 to 18 years
None of the above

Canteen is to provided in organization if the
total employee is more than

150 (B) 200
250 (D) 100

Which of the following is correct about
‘anonymous donation’
It is voluntary contribution

Person receiving such contribution maintain
record of it

Identity indicating the name & address of
the person making such contribution

All of the above

For claiming tax exemption under section
13A of the Income Tax Act, the political
parties is required to maintain record if such
voluntary contribution is of

any amount

less than Rs. 20,000/-

more than Rs. 20,000/-

more than Rs. 25,000/-

The Bonus is payable if factory or any other
establishment is employing the no. of
workmen on any day during an accounting

year

20 or more (B) 15 or more

30 or more (D) 60 or more
AO



46. The gratuity is payable to person who has
rendered unblemish service to his employer
for not less than

(A) 3 years (B) 5 years

(C) 7 years (D) 15 years

47. Which of the following is correct relating to
‘compassionate appointments’?

(A) Reservation roster is applicable

(B) It can be made against future vacancy from
waiting list

(C) There is time limit for compassionate
appointments

(D) All are correct

48. The minimum eligibility for receipt of
pension in a pensionable establishment is

(A) 10 years (B) 15 years

(C) 20 years (D) Both (A) and (B)

49. Earned leave may be combined with which
of the followings:

(A) casual leave or maternity leave

(B) medical leave or casual leave

(C) study leave, maternity leave or medical
leave

(D) none of the above

50. Under the Child Labour (Prohibition and
Regulation) Act, 1986, n child shall be
permitted to work between:

(A) 08:00 P.M. to 08:00 A.M.

(B) 07:00 P.M. to 08:00 A.M.

(C) 09:00 P.M. to 09:00 A.M.

(D) None of the above
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ROUGH WORK SPACE:

51.

(A)
(B)
©
D)

S
(A)
(B)
©)
D)

53.

(A)
(B)
©
D)

54.

(A)
(B)
©)
(D)

55.

(A)
©

Provisional pension and provisional gratuity
may be sanctioned in case of government
servant is likely to retire before his pension
or gratuity is finally assessed and settled by:

Pay and Accounts Officer
Drawing & Disbursing Officer
Head of Office

Head of the Department

Children Education Allowance is payable to
All Central Government Servants without
any pay limit

Defence Personnel

Railway Servants

All of the above

Under the CCS (Conduct) Rules which of
the following is Do’s is expected from the
government servants:

To observe courtesy and consideration to
member of State Legislature

To make joint representation in matter of
common interest

To support any illegal strike

To take help of subordinates for standing
surety for loans taken from private source

Which of the following acts, conduct or
commission amounts to misconduct of
government servant:

Strike

Gherao
Infidelity

All of the above

To join education institution or course of
studies for university degree prior
permission or sanction of the prescribed
authority is necessary under:
Rule 3, GID (4) (B) Rule 3, GID (7)
Rule 3, GID (10) (D) Rule 8 (1)

AO



56.

For which of the following activities the
permission / sanction of the appropriate

authority is not required under CCS
(Conduct) Rules:

(A) To seek redress of grievances arising out of
employment in court of law.

(B) To hold elective office in co-operative
societies

(C) To accept membership of Book Clubs run
by foreign agencies.

(D) All of the above

57. Which of the following activities is
considered objectionable for the
government servants:

(A) proposing the nomination of a candidate at
an election

(B) to be member of political party in
democracy

(C) to act as election agent, polling agent of a
candidate at election

(D) all of the above

58. If change of residence is involved and
distance between old and new headquarters
more than 1000 km and upto 2000 km,
joining time admissible where transfer
necessarily involves continuous travel by
road for more than 200 km is

(A) 10 days

(B) 12 days

(C) 15 days

(D) upto 7 days

59. Direct recruitment on all India basis by
open competition is based on

(A) 100 point roster

(B) 120 point roster

(C) 200 point roster

(D) No roster is applicable in such case
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60.

(A)
(B)
©

D)
61.

(A)
(B)
©)

(D)

62.

(A)
(B)
©
D)

63.

(A)
(B)
©
D)

64.

(A)
(B)
©)
D)

The SCs / STs reservation is applicable to
which of the followings

Ex-cadre post

Post filled by deputation

Temporary appointment for less than 45
days

Non-industrial unit

Which of the following periods of service
not counted as qualifying service

Service as SAS Apprentice
Service as Apprentice

Pre-appointment training
immediately by appointment

All of the above

followed

Which of the following is included in
emoluments for pension

Special allowance
Deputation allowance
Non-practising allowance
Personal pay

Additional quantum of pension shall be
payable as and when the pensioner attains
the age of 80 years to 85 years at rate of

20% of basic pension
30% of basic pension
40% of basic pension
100% of basic pension

A government servant shall be deemed to
have been placed under suspension by an
order of appointing authority with effect
from date of his conviction if he is
sentenced to a term of imprisonment
exceeding:

12 hours

24 hours

48 hours

Time is immaterial

AO



65. Which of the following is not considered
minor penalties under CCS (CCA) Rules

(A) Censure

(B) Withholding his promotion

(C) Withholding of increments of pay

(D) Compulsory retirement

66. Pension from UNO is subject to taxation
under Income Tax Act as

(A) Not chargeable to tax

(B) Taxable on receipt basis

(C) Taxable on account basis

(D) Taxable

67. If the qualifying service is 5 years or more
but less than 20 years the death of gratuity
payable at rate of

(A) 2 times of basic pay

(B) 6 times of basic pay

(C) 12 times of basic pay

(D) Not payable

68. While considering the cases of government
servant for promotion, the Departmental
Promotion Committee must take notice of

(A) Govt. servant under suspension

(B) Govt. servant in respect of whom a charge-
sheet has been issued

(C) Govt. servant in repect of prosecution for a
criminal charge is pending

(D) All of the above

69. In a normal zone of consideration, field of
choice from the eligible officer is to be kept
by Departmental Promotion Committee as

(A) Twice the no. of vacancies

(B) Thrice the no. of vacancies

(C) Twice the no. of vacancies + 4

(D) Thrice the no. of vacancies + 5
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ROUGH WORK SPACE:

70.

(A)
©
71.

(A)
©
72.

(A)
(B)
©
D)

73.

(A)
(B)
(©)
D)
74.

(A)
©

75.

(A)
©

Willful absence from duty not covered by
grant of leave will be treated as dies non for

the purpose only of
increment (B) leave
pension (D) all of the above

The government servant may be required to
subscribe to provident fund, a family
pension fund etc, in accordance with

FR-10 (B) FR-13
FR-16 (D) FR-17
House Rent Allowance is payable with

reference to

pay band

pay band plus grade pay

pay band plus grade pay plus non-practising
allowance

all of the above

Whichi terms and conditions for appointing
retired officer as Inquiry Officer is not
applicable

He should not be more than 70 years of age
as 1st August of the empanelment year

He may be entrusted inquiry on case to case
basis

He may conduct inquiry in the office
premises only

All is applicable

The charge sheet for major penalties under
CCS (CCA) Rules to be issued under

Rule 10 (B) Rule 10 (5)(C)
Rule 10(1) (D) Rule 14

The standard form of order of suspension
for government servant to be issued under
CCS (CCA) Rules, 1965 under

Rule 10(1) (B) Rule 102)
Rule 10(C) & (4) (D) Rule 14
AO



76. For the case, where the government servant
is already on leave or absent without prior
permission, the order of suspension would
be effective from

(A) Date of Order

(B) Date of proceeding on leave

(C) Date on which he returns from leave

(D) Depends on nature of order

77. The authority competent to place a
government servant under suspension under
CCS(CCA) Rules, 1965 is

(A) Appointing Authority

(B) The Disciplinary Authority

(C) The Controlling Authority

(D) (A) & (B)only

78. Which of the following deduction is
enforced from the subsistence allowance
compulsory

(A) Amount due on court attachment

(B) House rent & allied charges

(C) Subscription to GPF

(D) All of the above

79. Where due to adequate availability of
quarters of particular type, a government
servant is allotted accommodation of a type
higher than his entitlement, then license fee
is payable

(A) flat rate

(B) on the basis of basic pay

(C) on the basis of grade pay

(D) six times the normal rate of license fee
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ROUGH WORK SPACE:

80.

(A)
©

81.
(A)
©
82.

(A)
(R)
©
D)

83.

(A)
©

84.

(A)
©)

85.

(A)
(B)
©
D)

Conversion of one kind of leave into leave
of a different kind is permissible only when
applied for by the official while in service
under:

Rule 7(1)
Rule 10, GID

(B) Rule 7, GID(2)
(D) Rule 13

An interim or final order pertaining to

industrial dispute passed by Industrial
Tribunal or Labour Court is called
Judgement (B) Decree

Order (D) Award

The temporary closure of place of

employment or suspension of work is called
Strike

T.nck ont

Lay off

None of the above

A person who has ultimate control over the
affair of the factory is called

Manager (B) Chairman
Managing director (D) Occupier

Creche is to be provided if female workers
engaged in establishment is

15 (B) 20
25 ®) 30

The space for every worker employed in the
factory under the Factories Act, 1948
should be

10 cubic meter
10.2 cubic meter
14.2 cubic meter
15 cubic meter

AO



